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Objectives

< Describe the difference between clustered and dispersed rural settlements.

< Explain the types of services in early settlements.

< Identify important prehistoric, ancient, and medieval urban settlements .

< Explain the two dimensions of urbanization.

Terms to Know 

There will be a separate vocabulary test, where the expectation is to write out the definition.

–> city-state –> clustered rural settlement –> dispersed rural settlement

-> enclosure movement -> urbanization

Places to Locate

Brazil Argentina Chile

Mexico Libya South Africa

India Australia Russia

Peru Bolivia China

Kenya Tanzania Namibia

Spain France Germany

Romania Bulgaria

Concepts to Know

Great Britain's enclosure movement city-state

relationship between urbanization and the Industrial

Revolution in Europe

The fall of the Roman Empire in the fifth century

A.D. brought about what change in urban

settlements?

hearths of urban settlement Urbanization can be analyzed by looking at the

increase in the ________ of people living in cities.

Assessment has 12 multiple choice questions. Full credit is 10 out of 12 questions answered correctly. If the

score is less than 6, an incomplete, missing assignment goes in the grade book. The expectation is that the

assessment is retaken until 6 questions are correct. This option is available to achieve scores higher than 6.

A -> 10 - 12 B -> 8 - 9 C -> 7 D -> 6 F -> 0 - 5
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